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Poverty and Unemployment

Time : 1 Hr. Marks : 100

ATEATA T SIS I=AT HEATT GTe [erdeht hiord fereme &y srg?

(1) FTEAT A FUT TSR M2,

(2) ATLATT b AT 3TTE.

(3) WTRATAT AL HEAE e HLAATHS 3.

(4) TTRATA T TSI (o= SRS ATl Tl FIOMTLT U, TH, TH. 3. &1 Hgcard!l §eaT e,

Which of the following statements is true with reference to unemployment in India?

(1) There is still hidden unemployment in India.

(2) India has cyclical unemployment.

(3) Unemployment in India is largely structural.
)

(4) NSSO is an important organisation for collecting employment statistics in India.

AT EUETA T AR T TeT o0l 10T ST B2 2

(1) FSTAT ATIBT (2) ST AT

(3) G@TATATeT AT (4) Th=r 99

Which of the following is a characteristic of people below the poverty line?
(1) Debt trap (2) Gender inequality
(3) Poor health (4) All of the above

ATLATA T TSI FIAHHATET GTA AT IO IITZL0T A5 ?

(1) Tt ST ereT ST AT (2) TATETT TASITE TTSTT

(3) TSI FehT = AT (4) Treat FLrET AEd

Which of the following are examples of self-employment programs in India?

(1) Swarna Jayanti Shahri Rozgar Yojna (2) Prime Minister Employment Scheme
(3) Both are incorrect (4) Both are correct




TOTTATeT AT 319 AT IToT €T ETLUATHTST WA TEARTIA GTATATHT 0T FHTAHT & FeAT?

(1) TeATrg AT TSI (2) TRt aTer fashTer 2T
(O BIESIEERESRURIEET (4) Th=r 99

Which of the following programs was initiated by the Government of India to improve the food and
nutritional levels of the poor in the country?

(1) Midday meal scheme (2) Integrated child development scheme

(3) Public distribution scheme (4) All of the above

GTefTeraeht 0T 9T fAeder TRE = oo STea g ?

(1) fa=faa 2ot (2) srfasrfera Tor

(3) Tarmremrefier <o (4) ATSAALTET T
Which of the following countries has a greater prevalence of absolute poverty?
(1) Developed countries (2) Underdeveloped countries
(3) Developing countries (4) Capitalist countries
et eI TR =T wia-feas Fat e ST

(1) 2400 TeaT FHT (2) 2200 et FHY

(3) 2100 T&aT FHT (4).2000 TeaT FFHT

The per-day calorie estimate of poverty for urban economies is

(1) Less than 2400 (2) Less than 2200

(3) Less than 2100 (4) Less than 2000

2011-12 &Y ATLATII @TATATRT HIOTcAT TTSATT TaT1er TET 22 feqer?

(1) T2 e (2) faem

(3) st (4) BITETE

The highest Poverty rate was seen in which of the following state in India in 2011-127?
(1) West Bengal (2) Bihar

(3) Odisha (4) Chhattisgarh

AT AL ATTOT ATHTOT AT Ter FArfera IS J=orEmat 1993 Hed GTATAaehl hIOTd T TTSTAT T ATAT?

(1) TATLT TSR AT (2) TUTSTACT ITH TALSRITL A1

(3) T ITHIOT IUSHTART AT (4) TS YTHAOT TSETTE gHT 1A

Which of the following schemes started in 1993 to educate unemployed youth in small towns and rural
areas?

(1) Prime Ministers Employment Scheme (2) Swarnajayanti Gram Swarozgar

(3) National Rural Livelihood Mission (4) National Rural Employment Guarantee Act




9.  WTEATAT ATHTETST TG T TTSTAT HIUTCAT T T HLUATT ATAT?
(1) 1998 (2) 2001
(3) 2000 (4) 2004
In which year Antyodaya Anna Yojana was introduced to people in India?
(1) 1998 (2) 2001
(3) 2000 (4) 2004
10.  T¥HT NFWP #Feft 1] FeAT?
(1) Fregax 2003 (2) SIT=ETLT 2005
(3) Aregax 2004 (4) fR¥aT 2002
When did the Government introduce NFWP?
(1) November 2003 (2) January 2005
(3) November 2004 (4) December 2002
1. __ FANTEAE GATCTCHTST UaRTToHs aTel faTe SaT g% HeudTd STl
(1) 0-10 =% (2) 0-6 &
(3) 1-6 T (4)1-10.a9
Integrated Child Development Service was introduced. for the children of age group___.
(1) 0-10 years (2) 0-6 years
(3) 1-6 years (4) 1-10 years
12.  fvaer ST, vardt =il JIge 9ed Alel.
(1) 9Tk 9T a9 qTae (2) HTF FHTA FTIL ITAD]
(3) ATITHT FoFATH TTaST (4) FTITTHT FHTT TITdST
In Absolute poverty, a person fails to reach the:
(1) Standard minimum level of consumption (2) Standard maximum level of consumption
(3) Minimum level.of consumption (4) Maximum level of consumption
13.  FTEIIE. = ATOp IUSHTaaRT TTcaTed TSN AT IR aaY S0 T8 A FEAFAT GTeAteaenl Hiore

FTAFHIAT TSAB (ool 3?2

(37) W LT ATHIOT [ AHTOT

(T) TELTSAT SALFIHAT AFEAT &H7AT T (2013-2017)
(F) TTHA T TSIt g9 (GOALS)

(3) AfEaTet fashTe T &HaT Tohe (v

ERIDTECEES
(1) & & (2) =1, T T F
OEREIEE (4) TR 75



Which of the following programs have been supported by the United Nations Development Program

along with the Government of India for poverty reduction and livelihood promotion?
(A) Affordable Rural Housing for All

(B) Improving Efficiency of Health Care System in Multiple States (2013-2017)

(C) Governance and Accelerated Livelihood Support (GOALS)

(D) Strengthening National Capacities in Tribal Areas

Answer Options:

of

(1) Only A (2)A,Band C
(3)B,Cand D (4) All of the above
14.  BTATATRT HIAT AT ATLATT TIHT FTRGILUHT SATEAT HeA 12
(1) AT, . AT qIHAT (2) AFHSTATAT AIHAT
(3) LT dgAFT FHAT (4) TSI FIET
Which of the following committees defined the poverty line for the first time in‘India?
(1) Y. K. Alagh Committee (2) Lakdawala Committee
(3) Suresh Tendulkar Committee (4) Rangarajan Committee
15.  NSSO ¥ ReredT 37ISTTasaT SATEIaaT Sa el St s 39 mas_
(1) i s e (2) TTHTEE sraedT
(3) & srareer (4) T TSR
According to the definition of unemployment given by NSSO, chronic unemployment is
unemployment.
(1) Usual Principal Status (2) Current Weekly Status
(3) Current Daily Status (4) Part time employment
16. TET= faw g Fiafafera wa:

(1) et g enor Asraaefie Treeeie qrETsa gEgiaeie sax

(2) TGO Ao T LUETAT TRUTAT T T=AT ATEq (9 IcAAT=AT TTaAB el L
(3) Fa=fEra TP wrfor fAsrarsfier Troewimedi= siax

(4) fra == Ifor Tha A A=A 4

Poverty Gap reflects :

(1) Gap in infrastructural facilities between developed nations and developing nations

(2) The difference between poverty line and actual income level of all those living below that line
(3) Gap between developed nations and developing nations
)

(4) Gap between the rich people and the poor people




17.  otae fagd= TFas Hfed (2013) GTefierde=ht Ferm= fEawor #vd?

(1) ATEaet ATATEIH BT

(2) WA=t AFHAEIH AT

(3) fFa=wfera sEHey e srEHTaET S

(4) Trmaefier SETed e SHT=a=T 3a g

Thomas Piketty's book 'Capital' (2013) analyzes the following:

(1) Advantages of Capitalist Economy

(2) Disadvantages of Capitalist Economy

(3) The rise of sharp income inequality in the developed world
)

(4) The rise of sharp income inequality in the developing world

18. Y. F. Ar=AT (1960-61) AR ITREU=AT ATTATHTST TETerdeht 0T =y fE=TTa saar arar?
(1) e ==ht, I AT oy Ioae
(2) T =<ht, Tf ARAT START =
(3) Tt =1t
(4) =TT ATET
Which of the following criteria was considered by P.D. Ojha Committee (1960-61) for calculating poverty
line?
(1) Per capita, per month income
(2) Per capita per month consumption expenditure
(3) Both of the above
)

(4) None of the above

19. ST IUTHATE fAEer (GHI) HISTAAT ETe terteht 10T STaTH fa=mra =Jara?

(31) FATHRECIATA FATTIT SHTIT () ATARTHLT [ FATTT
(F) ATTRTALT G AT SEIEL

T 3T

(1) FF & (2) &, 7 =for %

(3).7, Famfors (4) T 7

Which of the following dimensions are taken into account while calculating the Global Hunger Index
(GHI)?

(A) Prevalence of malnutrition in the population (B) Child wasting

(C) Child stunting (D) Child mortality
Answer Options:

(1) Only A (2)A,Band C
(3)B,Cand D (4) All of the above




20. =IRE AISTvITETET 1989 Hed FIUT=AT TeTeTd@TeAT A TSI AN a5 € TATIT FeAT?
(1) AT, . AT (2) LT dgART
(3) T & (4) . . FTFTATAT
In 1989, the Planning Commission expert group was set up under whose chairmanship to measure poverty?
(1) Y. K. Alagh (2) Suresh Tendulkar
(3) Gaurav Dutt (4) D. T. Lakdawala
21. ST e THaerie a2l Flor YT Har?
(1) 5 1T (2) ST S HHeAT
(3) FrH AeSATES ATV TeTE 3o (4) FfFE®
Who publishes the Global Hunger Index annually?
(1) United Nations (2) World Health Organization
(3) Concern Worldwide and Welthungerhilfe (4) UNICEF
22. FIOTAT SUHH ATLATAIS T SATTOT I 3T ATILAT AET hiwd Hlal?
(1) TTO07 ST (TS IrooT S7F9raTe)
(2) weTferss a1er fasTe A& (ICDS) FrT
(3) THrem Sgaaw
(4) TIETT I Gt Fwrgat, 2013
Which initiative focuses on addressing nutrition and safe food consumption in India?
(1) POSHAN Abhiyan (National Nutrition Mission)
(2) Integrated Child Development Services (ICDS) Scheme
(3) Mission Indradhanush
(4) National Food Security.Act, 2013
23. TS A 2014 97 TAHT ATHIOT ARTETST 2Tiey 7aver Afsa F.
(1) =. T40T 43 (2) =. T0eT 32
(3) = T=T.54 (4) & T 36
The Rangarajan Committee fixed the poverty threshold for rural areas at in 2014.
(1) Rs. 43 per day (2) Rs. 32 per day
(3) Rs. 54 per day (4) Rs. 36 per day
24. Tt IR Task Force on Elimination of Poverty in India a7 FTIaaT=T €947 Feft et 1?2

(1) 16 519 2014 (2) 16 AT9 2015

(3) 26 w15 2015 (4) 15 wgaTr 2015
When did NITI Aayog set up Task Force on Elimination of Poverty in India?
(1) 16 March 2014 (2) 16 March 2015
(3) 26 March 2015 (4) 15 February 2015



25. T ASATT AIHATAT GTA [AT0T HIOTAT/HIITT ARG AT HEATATA I [T TR ST ?
(31) Ao T T TSATAS ATHTOT AT gy AINTTETST HHTT TGILU=AT YT TaT QTG U= TOrT
AT,
() TAFT TFATET 2011-12 T, T ANTETST AL IAFLUAT ST %, 816 TLSIS ILHGT AT &, MT
AR &. 1,000 322Ts semer Ao Far e
GTAT Fle qTIeT T ITL (A9
VEK] (2)FF
B)FF T (4) = sfor 9 9%
Which of the following is/are correct about Suresh Tendulkar committee Report on Poverty Estimation?
(a) The Tendulkar Committee calculated a new poverty line based on the same poverty.line for rural and
urban areas in each state.
(b) For 2011-12, for rural areas the national poverty line using the Tendulkar methodology is estimated at
Rs. 816 per capita per month and Rs. 1,000 per capita per month'in urban areas.
Select the correct answer using the code below:
(1)a,b (2) a only
(3) b only (4) a and.b wrong

26. FXISTITEI=T e SO0 IUAsT AHATATST AATE RIAed T S[BeATHD QGHTT IS FgUST FHIoredT
THRTTAT ALST STHA?
(1) TETAATHF SIS (2) =TT AT
(3) =T SIS (4) T TSR
What is unemployment due to mismatch in skills of the unemployed & skills needed for the available
jobs?
(1) Structural Unemployment (2) Cyclic Unemployment
(3) Frictional Unemployment (4) Disguised Unemployment

27. Labour Force Participation Rate (LFPR) TguTs...

(1) FTIFTLE ATFGEAT

(2) FTHEAFT eReea FTART Arsheredeft samor

(3) FTHHT ATHEACAS THT ATRHEAAA THTIT

(4) ATTETFTET

Labor Force Participation Rate (LFPR) is__

(1) Working population

(2) Ratio of non-working population to working population
(3) Proportion of working population to total population
)

(4) None of these




28. 2014 HeX AT AT HHTIETHTST GTeTerdahT ey TTSTT SHATT ST ?

(1) FRreetiseor FrsT (2) "o<ft fE@=or TS

(3) THTAHEAT ST & FISTAT (4) TR 7

In 2014, the Government implemented which of the following scheme for financial inclusion?
(1) Demonetization scheme (2) Property Disclosure Scheme

(3) Pradhan Mantri Jan Dhan Yojana (4) All of the above

29. ATATATA FUT SIATATA SLSRITL AT T o1 TESTTEAT SATET AT I HLdTd o 36 ATBEe AT
(1) T=3 ILSITE (2) ETHT FLSTT

(3) TXHAATHF IS (4) e IasETa

The type of unemployment in the agricultural sector of India where more®people are employed than
required is known as:
(1) disguised unemployment (2) seasonal unemployment

(3) structural unemployment (4) marginal unemployment

30. JHTHAT FXLA AT FISHT HEWTT GTATA A= =TT HT:
(31) BT FIered TashTe ATfor SRTSThaT HATAATHT T TS &7Te.
() Y TAT Medaraes arwe FFher, Ierrerhar, s sivr e arercaaey afdreror Tvam 2o
(F) BT FTSHT FAT=AT FEHTeq/ ATAAT FHATATAT ARATITSNT DT TTAAT SFHADST SISl AT,

ERERE IR ERERIECRE R | FAE FL
(1) %<k & AT F (2 FF
(3) ek & i (4) &1, T ST F

With reference to Pradhan Mantri Kaushal Vikas Yojana, consider the following statements:

(A) It is the flagship scheme ofthe Ministry of Skill Development & Entrepreneurship (MSDE)

(B) It, among other things, will also impart training in soft skills, entrepreneurship, financial and digital
literacy.

(C) It aims to align the competencies of the unregulated workforce of the country to the National Skill
Qualification Framework.

Which of the statements given above is/are correct?

(1).A and C only (2) B only

(3) B'and C.only (4)A,Band C

31.  GTAterdeht FHIOTT USTFET TEATA e SIS =T 22T 23 Thd?
(1) ATLATAT SAANOTAA T SAZATA (2) TSI AgTEATAATA
(3) TIETT FHAT A FeAT (NSSO) (4) Thsr a9

Which of the following agencies can provide the data for unemployment in India?

(1) Reports from the census of India (2) The Directorate General of Employment
(3) National Sample Survey Organisation (NSSO) (4) All of the above




32.  T=u JUSHITO=T deheaar o st Fef?
(1) ST Fer (2) I\ B
(3) STiw Tifereae (4) e AT
Who developed the concept of disguised unemployment?
(1) John Keynes (2) Amartya Sen
(3) John Robinson (4) Alfred Marshall
33. SEISNITEOET & SATUA SUATETST TR T R0 3872
(1) STSIITI=T UHT HE&IT / THIT FHTAIATE G447 x 100
(2) THIT FTETE HEAT / SLSNT=T THT §&4T x 100
(3) SIXTSIITI=T WHT H&AT / THOT AHLHT X 1000
(4) THIT AHLAAT / AXSTLIHT THOT H&AT x 1000
What is the right formula to know the unemployment rate?
(1) Total number of unemployed / total labour force x 100
(2) Total labour force / Total number of unemployed x 100
(3) Total number of unemployed / total labour force x 1000
(4) Total labour force / Total number of unemployed x 1000
34. TETAT FATHIAT SIS Segl /AT AR, HRAOT=AT ST FEal, Ta ATl oad Taar degl
GTeATeTTeh! HIOTeAT ZOHe IqT?
(1) T=3 ILSITE (2) ETHT FTSTT
(3) TXHATHF IS (4) =TI TS
The unemployment of a person when he/ she is in midst of transiting between jobs, searching for new
job comes under the which of the following category?
(1) disguised unemployment (2) seasonal unemployment
(3) structural unemployment (4) Frictional unemployment
35. T U &HAT AR TOT &Y HeheudT I HiSAT?

(1) .37 BT (2) =T, LT dgART

(3) =T. |1, |, FETeAE (4) . TS

The idea of poverty as capacity deprivation was put forward by____.

(1) Dr: Amartya Sen (2) Dr. Suresh Tendulkar
(3) Dr. P. C. Mahalanobis (4) Dr. Rangarajan




36. WUTH HAT qZT TS=AT 320 e,
(1) BT STSTRIAT STATIF ATFAF €T Ty,
(2) fafors ==t amTae FXoITETSY T AqFATAT et TaTT FHLT.
(3) SIS ATTOT FRRTETE SATHATAT TH T FHL0I,
(4) Frere A Arfor Treve AT =aT T=ea A oot TEeaT gereiEr et o,
Pradhan Mantri MUDRA Yojana is aimed at

(1) Bringing the small entrepreneurs into formal financial system

(2) Providing loans to poor farmers for cultivating particular crops
(3) Providing pensions to old and destitute persons
(4) Funding the voluntary organizations involved in the promotion of skill development.and employment

generation

37. GTSATEITehT FHIOTT HIHAT/ AT FTRGILU=AT TATeTell Haferd ATai?

(1) TT=FHT ATfor 71 (2) ™

(3) sregaferaT (4) AT

Which of the following study group is not related with the study of poverty line in India?
(1) Dandekar and Rath (2) Minhas

(3) Ahluwalia (4) Tarapore

38. dgAHT AMHA AT TZA AT, 2009-2011 -+--- .

(31) TTTREIT=AT THTOTE =S SATAAT 3TTR.

(@) TGS ATRTHT HaT FHT AT 3TE.

T 7Ty fReeT

(1) w6 & (2) FF T

(3) ar rfor = (4) 32 F

As per the methodology suggested by Tendulkar Committee, 2009-2011
(a) There has been a reduction in the proportion of poverty.

(b) The number of people below the poverty line has decreased.

Choose the correct option.

(1) Only a (2) Only b

(3) aand b (4) Both are wrong

39. FAFHHELT JFHILT (HHT I FHILIT-

(31) FTHTHT FWTT AT XAt ATHED STETAT (=) T T
G EIEEERIE IR IR () T2 foreror agt
ERIDTECEES

(1) Famfor e 2«49, %

(), F T (4) TR 79 T
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Youth unemployment occurs due to-
(A) Imbalance between demand and supply of work
(C) Demand for higher wages

Answer Options:

(B) Technical Improvements

(D) Defective teaching methods

(1)Cand D (2)A,B,D
(3)A,C,D (4) All of the above are correct
40. TOTAT AHATHITET FHIVTHT TOMET et T ST ?
(1) 18 T 60 TTRTETA I ATHEEAT (2) 15 T 65 TARTSTIT ATHHEAT
(3) 18 T 65 TTRTETA I ATHEEAT (4) 21 T 62 TAFTSTI SATHHEAT
Who is counted in the labour force of a country?
(1) The population of 18 to 60 years of age (2) The population-of 15 to 65.years of age
(3) The population of 18 to 65 years of age (4) The Population of 21 to 62 years of age
41. STeET UETRAT SHIAT AT=AT TAdTaeAT TohaT Treraaert T Fofi= w19 Iehard Wd T8 FZurdrd.
(1) =T AT (2) Fft AT
(3) ST SIS (4) FTAATHS SIS
When a person is forced to perform a job that is below his.or her ability or qualifications, it is called ____.
(1) Under unemployment (2) Disguised unemployment
(3) Seasonal unemployment (4) Structural unemployment
42. dgaET FiEd=aT e e STRET T ST v et GEe aTe AT heldl @9 GHIE Y FOATd qTET.

(31) ferequr

() T

(F) SSIT ATIT
ERIDICEES

(1) *<h o i e
(3) <F o AT F

As. per. Tendulkar Committee's recommendation, the expenditure on the following items should be

included in determining the poverty line.
(a) Education

(b) Health

(c) Energy consumption

Answer Options:

(1) aand b only

(3) a and c only

(2) et 79
(4) FeF =

(2) All of the above
(4) Only b
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43. Y. . FEF JIAT GATAT ITIST SLAATT _ FTIT FLOITHT TR AT
(1) arefior e fAger= (2) ettt o e
(3) draws e Mo (4) e g fAders
P. K. Bardhan recommended the use of ______in determining the level of expenditure.
(1) Rural Price Index (2) Urban Price Index
(3) Agricultural Labor Price Index (4) Industrial Price Index
44, TAEA G T2 (GHI) a7 HIATT GTATAThT HI0Td AT Fehi= g ?
(1) 2023 7oTae 21T S99 (GHI) T ATaTaT 125 IATOTSTT 111 FHiS Q=T g,
(2)  FAMETST R AT TAAT L0,
(3) g =@ AW ast=aT 107 (2022) AT YFhawd T 2.
(4) ATaT=T GHI ThTeTT 28.7 a1 52 100 7 HET<H THISTT 318 (Y ATel) A0 T aATd aTse 2.
With reference to Global Hunger Index(GHI , which of the following statements is incorrect?
(1) The 2023 Global Hunger Index(GHI) gives India a rank of 111 out.of 125 countries.
(2) This indicates a hunger severity level of ‘serious’ for the country.
(3) This also marks a fall from the previous year’s rank of 107 (2022).
(4) India’s GHI score is 28.7 on a 100-point scale where 100 is the best score (no hunger) and 0 is the worst.
45. 1989 Tt 'SHHAT T TG AgaATAT'ZTE AT MRS aTL! FI0f ATOTOTAT?
(1) TTEHT &ATFor T (2) g
(3) I & T HITeA Legfard (4) ATETIIT
Who presented the poverty statistics through 'Report on Imbalance and Poverty' in 1989?
(1) Dandekar and Rath (2) Minhas
(3) Gaurav Dutt and Martin Ravallion (4) Tarapore
46. NSSO =47 2004-05 Wefier 61 =47 STTAT ATIL F&e TS =T FETSATATST AAATAAT TG &l ATe.
(1) g+ Ranteragd (URM) (2) ta Rete 93a (MRM)
(3) URM 3ifor MRM =ieer (4) TETHT UFGT ATRT
The methodology followed for poverty estimation by using 61st NSSO data in 2004-05 is
(1) Uniform Recall Method (URM) (2) Mixed Recall Method (MRM)
(3) Both URM and MRM (4) None of the above
47. STHRTAT THATHE AT THE HeATTHT TATHT M AT T GTeA[eTTehT 07T UaT HehTaT THTAL ATal?

(1) IR T F2or (2) TeRTTET=AT Hefi=T e

(3) AIEaAT ATSITTA TBFHEIHIIT (4) ST sTEETTaT FHY FO

Inclusive growth as enunciated in the Eleventh Five Year Plan does not include one of the following:
(1) Reduction of poverty (2) Extension of employment opportunities
(3) Strengthening of capital market (4) Reduction of gender inequality

12



48.

ATLATT faereaT auTd, AT STRGIIUT FTel TSATHET TACTTAT SITE AT HTL,
(1) TRET 3T TATTHTE TIAATA.

(2) FFAAT=T ITaST TSATIETT Tad.
(3) TR TST IcaTad TSIATHATE dad.
4)

(4) FTESITF FEaEorT=T UrET TSR a8,

In a given year in India, official poverty lines are higher in some States than in others because

(1) Poverty rates vary from State to State

)
(2) Price levels vary from State to State
(3) Gross State Product varies from State to State
)

(4) Quality of public distribution varies from State to State

49.

GTA AU FT0T "HETCHT TefT TSI AT TSI FHT HTART" AT ATH SUATE I3 52
(1) Fae ST SITAT AT AT STHTA AT FeaTd e Y1E a3
(2) =TTET Y@t (BPL) TEaTdie S qaed

(3) TS HITE HHTSTNT FeaTd e A1 Taeq

(4) FITATET T T T
Among the following who are eligible to benefit from the “Mahatma Gandhi National Rural Employment
Guarantee Act™?
(1) Adult members of only the scheduled caste and scheduled tribe households
(2) Adult members of below poverty line (BPL) households
(3) Adult members of households of all.backward communities
)

(4) Adult members of any household

50.

ST AT ATATHT HIT3TA?

(1) oo qeft

(2) I FTEITT

(3) TE FZTIHTS. FFTT Aa ATSTHETAT AT A ST AWE

(4) fg= &fem

Who are the'beneficiaries of Annapurna Yojana?

(1) School girls

(2) Casual labours

(3) Senior citizens who are not under National Old Age Pension Scheme
(4) Retired soldiers
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